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a+b+c=1, ab+bc+ca=1, abc =1

ol W, (a+b)(b+c)(c+a)l] F2?

a+b+c=1°4
a+b=1-c¢c,b+c=1-a,c+a=1-b
(a+b)(b+c)(c+a)
=(1-)(1-a)(1-b)
=1-(a+b+c)+ (ab+ bc + ca) — abc
=1-1+1-1=0
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x+y+z=1°4

x+y=1-z2
y+z=1-x
z+x=1-y

(x+y)0+2)(z+x)=01-2)1-x)(1-y)
=1-(x+y+2) + (xy+yz+2x) — 232
=1-1+2-3=-1
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(xy +y2)(yz + 2x) (2x + xp) =

xy +yz + zx = 15 °|-&5ko] HFsHH

(xy + yz)(yz + zx)(zx + xy)
=(1-zx)(1-xy)(1-y2)

=1-(xy +yz+ zx) + (x®yz + xy%z + xyz%) = (xyz)?
=1-(xy+yz+2zx) + xz(x +y + z) — (xyz)?
—1-1+2-4-4
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(x—a)(x=b)(x—c)
=x3-(a+b+c)x* + (ab + bc + ca)x — abc
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x+D+1(+1)
=xyz+xy+yzt+tzx+x+y+z+1
=7
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(1+x+x%)2(1+x)
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) I+ x+x%)2(x+1) 9 A A
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x+x?+x3 =Yy2F5HH,
(Y+1)3=Y3+3Y2+3Y+1
3Y = 3x + 3x% + 3x3
Azeo] Alg= 3, ohE2
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i), ii)olAd2+14+3=6
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1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18
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a+b+c3

= (a+b+c)(a®+b?+ c?—ab - bc - ca) + 3abc
=(a+b+c)x0+3abc=0+3-(1) =3

L@+ + )2 =9

a*>+b*+c?=ab+bc+caa®+b*+c?—(ab+bc+ca)=0
1
§(a—b)2+(b—c)2+(c—a)2} =0

a=b=c—oabc=a*=b=c*=1
@+ +3)2=01+1+1)%2=9
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Al AP E x, y, z2 5Hd

VAZ+y2+ 2 =14 @ol1
BYolE 2(xy + yz + zx) ©I T

®©, @ °flA 222 = 142 + 2(xy + yz + zx)
" 2(xy +yz +2zx) = 288
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Va2 + b2 + ¢2 = 3, abc = 6, 2(ab + bc + ca) = 16
(@a+b+c)?=a®+b?+c?+2(ab + be + ca)
(a+b+c)?=25 a+b+c=5("ab,c=FF)

a® + b3 + ¢ — 3abc

=(a+b+c)(a*+b?>+c?—ab-bc—ca) ---O
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@A +b3+c2-18=5x%(9-138)

a®+ b+ =23
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2(ab + bc + ca) = 52
dla+b+c)=36 > a+b+c=9
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= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52 = V29
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